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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11
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P3-11
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27.

26.
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25.
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26.

26.

25.
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24.
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26.

26.

25.

25.

m=495, FV0=0
—— MW
5 .
0 .
5 .
0 .
5 .
4é5 560 565
m=675,m FV0=0
0 - —— MW
5 -
0 .
5 .
0 .
5 -
655 6éo 655
m=820,m FV0=0
5 - —— MW
0 .
5 .
0 .
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0 .
820 825 830
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01 —— MW
5 .
0 .
5 .
0 .
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26.
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25.
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27.
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27.

26.

26.
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m=535, FV0=0

—o— MW

535

T T
540 545

m=710,m FV0=0

—— MW
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T T
715 720

m=859,m FV0=0

—o— MW
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860 865
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27.

26.

26.
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25.
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26.
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—— MW
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T T
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895 900
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P3-11

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:30 283 150.0 (2 =| 1Ri%e07:30 Bz (kAFERSE)
08:10 283 150.0 5| {BRige08:10 Bzl (GPMERE)
09:20 283 150.0 |Z=| 1Ri&@09:20 Bzh (kEA{EEEE)
10:05 283 150.0 (2 =| 1Ri%@10:05 Bzh (kAFERSE)
10:50 283 150.0 (& =| 1Ri%e10:50 Bz (kBERESE)
11:30 283 150.0 | =| {Ri&e11:30 Bz (RBEEE)
12:05 283 150.0 (2 =| 1BRi%e12:05 Bz (kAFERKSE)
12:40 283 150.0 (B =| BRi%e12:40 Bz (kBERSE)
13:15 283 150.0 FA| {Ri&e13:15 Bzl (GkAEEEE)
13:55 283 150.0 FH| 1Ri%@13:55 B3h (RAERRSE)
14:35 283 150.0 FA| 1Ri&014:35 B3 (RAHEREE)
15:20 283 150.0 |Z=| 1Ri&e15:20 Bzl (GRBEEE)
16:05 283 150.0 |Z=| 1Ri&e16:05 Bzl (kAEESE)
17:15 283 150.0 |Z=| 1Ri%e17:15 Bz CGREAEESE)
21t 3962.0 (14)%) 2100.0 32 UHIKEC: 2080.0, PH: 5.6

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHERECE (2393.0 vs 3953.0) 45



P3-11_0, Day=55 (2025-05-27)

1MfF———————T—————_—— ] - 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2057 2100 142
327
50 - 1000
80 40
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
( ¥ 30.0
~ 200
% F27.5
s 150 4
a F25.0
— 100 -
F22.5
£ 501
F20.0
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
- Bylnit: @D57 01:48: ET=1994 Fg=2400.0 Ro=487.0 ?3000
E 300 ~ :
T 200 4 : [ 2000
< 1
E l
100 - I - 1000
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Ll 1
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0 )4 0
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T 300 2n|lZzs| B | B | B | B | B| B | B[ B i 5 5 | BB | BB 5 5 5 5 5 5 5 5 & | 3000
C
% ByEt @D55 19:06: ET=1917 Fg=2142.0 Ro=nan
< 200 4 P g ® 12000
<
- CRE |
100 A B , - 1000
Ll 1
- \I\\'ﬁ\
0 22 1 —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
2 300 2o |26 |25 2525|2525 25| B [ 25|25 |25Z25| B | B (25|25 |25 25123525 B 5 & | 3000
c 1
% ByWon: @D57 01:48: ET=1644 Fg=2100.0 Ro=436.0
N 200 - I A - 2000
< 1 e
E | /
£
~ 100 - : 11 - 1000
o 1
1 T
1.0 ) a— —— 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
NREZHEIHER S EFHE N E I E N E AN R HE A E T H N AN R E A E R E T E I I E TSN i 5
0.6 -
0.4 1
0.2 A
2808 1 | A
| _obs
PPFD_obs

FRV (ml d-1)

I-ul
=

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=460, FV0=0 m=495, FV0=0 m=545, FV0=0

o IE 22.6 1 _q WE 23.0 o ILE
21.5 22.4 99 g -
22.2
21.0 22.61
' 22.0
22. 4
21.8
20.5
21.6 - 22.2 1
T T T T T T T T T T T T
600 800 1000 460 465 470 495 500 505 545 550 555
m=595,m FV0=0 m=645,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
—e— ME 23.00 1 —@— ME | 22751+ —@— ME —e— ME
22.75 29 50 -
22.8 1 292 50 A
22. 50 - ]
22.6 50 22.25 22,25 1
22.2 4 22.00 21.75 1 21.75 A
22.0 - 21 75 21. 50 - 21. 50 -
T T T T T T T T T T T T
595 600 605 645 650 655 695 700 705 735 740 745
m=770,m FV0=0 m=800,m FV0=0 m=835,m FV0=0 m=875,m FV0=0
] —e— ME —— ME —e— ME 23.6 1 _g— M_E
23.00 23. 4 4
23.25
23. 4
22.75 23.9 4
23. 00 - 23.2
22.50 230
22. 75 - 23.0
22.25 29 8 4
i 22.8
22.00 - 22.50 29 6 -
22.6 -
21.75 - 22.25 A 22. 4
22. 4
770 775 780 800 805 810 835 840 845 875 880 885
m=920,m FV0=0 m=965,m FV0=0 m=1020m FVO0=0 m
23.75 4 23,8 -
03 4] O ME —o— ME
23. 50 - 93 6 -
23.2
23.25 A 23. 4
23.0
22.8 - 23. 00 - 23.2
22.6 22. 75 - 23.0 -
22.4 - 22.50 22.8 1 —o— ME
920 925 930 965 970 975 1020 1025 1030 600 800 1000



m=460, FV0=0 m=495, FV0=0 m=545, FV0=0 m=595, FV0=0

26.5 —— MW —— MW —— MW
26. 5 26.5 -
26.0 26. 0 -
26.0 6.0
25.5 25.5 -
25.5
25.0
25.0
25.0
24.5
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T T T T T T T T T T T
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—— MW —— MW 26. 5 —— MW : —— MW
26.0 26.5
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25.5
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24.5
24.5 - 25.01
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240 4 24.5
T T 23 5 - T T T T T T T T T
650 655 695 700 705 735 740 745 770 775 780
m=800,m FV0=0 m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0
—— MW 27.0 —— MW 26.5 1 —— MW 26.5 1 —— MW
26.5 - 26.0 - 26. 0 -
26.0 25.5 - 25.5 A
25.0 ]
24 5 24.5
24.5 - ]
240 4 24.0
805 810 835 840 845 875 880 885 920 925 930
m=965,m FV0=0 m=1020m FVO0=0 m m
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25.5
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P3-11

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:30 288 150.0 A5 {Ri%@07:30 Bz (REERR)
08:20 288 150.0 B 1Rige08:20 Bzh (REEEE)
09:15 288 150.0 RS {Ri&e09:15 Bl (REERS)
10:05 288 150.0 (& =| 1Ri%@10:05 Bz (GkEBERSE)
10:55 288 150.0 |Z=| 1Ri&@10:55 Bz (REB{EEE)
11:40 288 150.0 S| Rige11:40 Bz (REAERE)
12:25 288 150.0 S| Rige12:25 Bz (REAERESR)
13:10 288 150.0 Bl Rige13:10 Bal (REAEHE)
13:55 288 150.0 BE| Rige13:55 BHal (REAEHE)
14:45 288 150.0 BE| Rige14:45 Bz (REAERSE)
15:45 288 150.0 BE| 1Rige15:45 Bzh (GREMERSE)
23+ 3168.0 (11)%) 1650. 0 32 FE&KEC: 2080.0, PH: 5.6

MEBEHERE STMAREARS (187.0 : 150.0), AIEEHTF—®E XAH4
ZRIAEBRERE150. 0 ml.
FHEHECE (2370.0 vs 3610.0) R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=54 (2025-05-26)

150 m———e e ———
VI, V'8V, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
2000 2057 ~
- 2000 T
1 -
00 521 1700 650 j
318 E
_ 1000 =
50 80 50 &
Warning: lcol [FVI',| "FVO’'] missing
0 0
p00 | =V — ME P30.0
FRV maxM L 57 5
150 frm == e e e e o R .
I'Trrrr17i1IrriIri1r s 0™,
100 4 | I . | | | I . | U=
I F22.5
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I . .
10 | | I | | I B . | '
4
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 4 ByInit! @57 01:48: ET=1812 Fg=2250. 0 Ro=440. 0 3000 _
: 5
200 - ] L 2000 &
I E
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100 ~ 1 - 1000
! 5
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m=445, FV0=0 m=495, FV0=0 m=540, FV0=0

o IE 22.6 o IE 22.8 o ILE
21.5 H 22 4 4
22.6
22.2
21.0
22 0 _ 22 4 N
20.5 21 g4
22.2
21.6
20 - T T T T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550
m=595,m FV0=0 m=650,m FV0=0 m=705,m FV0=0 m=745,m FV0=0
i i i 23. 25 -
23.0 o INE 23.00 o MNE 23.0 o MNE o INE
23. 00 -
22.8 1 2975
29 6 225 4 22.75 A
22. 50 -
99 4 - 22. 50 -
22. 25 - 29 0
22.2 1 : 22.25 -
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99 0 - 22.00
i 21.5 i
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T T T T T T T T T T T T
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23. 25 A 93 4
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23. 00 - 23. 25 -
23.00 23.9
22. 75 - 23. 00 -
22.75 -
22. 50 - 22. 75 - 23.0 1
22. 50 -
22. 25 - 22.50 - i
22,25 - 22.8
22.00 - ]
22.00 - 22.25 22.6 -
21.75 -
21 * 75 B T T T T T T 22 00 i T T T T T T
785 790 795 830 835 840 880 885 890 950 955 960
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—— MW 25.0 4 —@— MW 26.5 —— MW —— MW
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24.5 26. 0 -
26 26.0
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25.5
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24 _ 25 0 T
23 0 a 25 0 .
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22.5 24.5
600 800 1000 445 450 455 495 500 505 540 545 550
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P3-11

RriE) | BRI (D) | EME (EA/K) | XK R

07:30 294 150.0 | 1Rige07:30 Bzh (REEEE)
08:10 294 150.0 5| {BRige08:10 Bzl (GPMERE)
09:05 294 150.0 | {Ri%@09:05 Bz (REEESE)
09:55 294 150. 0 RS 1Ri&@09:55 Bz (REEESE)
10:35 294 150.0 RS Ri%@10:35 Bzl (REAERESR)
11:15 294 150.0 Bl Rige11:15 Bal (REERESE)
11:55 294 150.0 S| Rige11:55 Ba (REAERSE)
12:30 294 150.0 B Rige12:30 Bz (REAERE)
13:05 294 150.0 RS Ri%e13:05 Bz (REERSR)
13:45 294 150.0 B 1Rige13:45 Bzh (REERESE)
14:25 294 150.0 BS| 1Ri%e14:25 Bz CGREEESE)
15:10 294 150.0 S| 1Rige15:10 Bzh (REEER)
16:00 294 150.0 B {Ri&e@16:00 Hah (REAEHSE)
17:05 294 150.0 S| Rige17:05 Bz (REAERSE)
2i3t] 4116.0 (14%) 2100. 0 32933 KEC: 2080.0, PH: 5.6

MEREHERE STMAAEARS (191.0 : 153.0), AREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHERECE (2323.0 vs 3228.0) W



P3-11_0, Day=53 (2025-05-25)

150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————f——————F—= ]
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0.2 A
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0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
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m=4350, FV0=0 m=495, FV0=0 m=535, FV0=0

—— ME 22. 41 —— ME
91 5 22. 4 1
22.2 1
22.2 1
21.0 4 22.0 1 290 -
21.8 7 21.8 4
20.5 -
21.6 1 21.6 4
21. 4 1 21.4 1 O— ME
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 555 560 565
m=610,m FV0=0 m=655,m FV0=0 m=700,m FV0=0 m=740,m FV0=0
—o— ME 22.75 1 —o— ME {22754+ —— ME —o— ME
22. 50 -
22.75 1
22. 50 - 22. 50 -
22.25 22. 50 -
22. 25 22. 25
22.00 - 99 25 -
22. 00 - 22.00 -
21.75 22. 00 -
21.75 21.75
21.50 - 91 75 -
21.50 - 21.50 -
21.25 - T T T T T T T T T T T T
610 615 620 655 660 665 700 705 710 740 745 750
m=780,m FV0=0 m=815,m FV0=0 m=860,m FV0=0 m=905,m FV0=0
23.0 1
- ME 23.0 - 23. 00 - = ME | 3004 @ ME
22.8 1
22.8 1 22.75 22.75
22.6 -
22.6 -
92 4 22. 50 - 22. 50 -
22. 4 1
29 9 4 22. 25 22.25
22.2 1
22.0 A 22.00 22.00 A
21.8 1 2207 - ME
' T T T T T T 21.75 - T T T 21.75 - T T T
780 785 790 815 820 825 860 865 870 905 910 915
m=950,m FV0=0 m=1010m FVO0=0 m m=450,m FV0=0
23.2 1
23.2 - - ME — AN 2504 @ MW
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23.0 1
23.0 1 24.5 -
26 -
22.8 -
22.8 - 24.0 -
25
22.6 - 22.6 1 23 5 -
24
22. 4 22.4 23.0 A
23 1
22.2 1 22.2 1 o ME 22.5 4
950 955 960 1010 1015 1020 600 800 1000 450 455 460
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